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Only on land — YPAPT By RON

OVERVIEW
The X723 cites a mwn which states that a 2120179 is written only if the borrower has
land (real estate). Mmoo discusses the reason for this qualification.

— Y997 19 YOV Y MYV NN XNIWT XNINT DIVN
Because this is something common that one lends money to someone who

owns land; it is common -
— 215393 NI 1IMYIY 9199 PRV %99

Since the borrower cannot destroy it and it exists before him —

Moo responds to an anticipated difficulty:
— PPN 29 WA NY ymyab 9199 2993 O8YT 2) DY 4N

And even though a perforated flowerpot can be destroyed, nevertheless the

1229 did not differentiate between different types of ¥»9p, but rather ruled that all
ypp including an y°xv is fit for writing a 2120179.

mdoIN responds to an additional difficulty:
—*2)n1 95 92 MY HNIT DIVUN 0YVNPa YYD Nnw 9s VPPN 12%2N07 N

And regarding that which we write a 9120119 even if the M™% owns a miniscule
property, so >'"'w1 explains that it is valid since it is possible to collect the entire

debt even from a x1w 93 ypp -
— 5»aNT NVPT AUYN

Like the story of the small field with %°ax.

mooIn offers an alternate explanation:

! See X9 71"7 *"wn (who gives this explanation adding) that the 1321 made their NP0 only by a Xm*2wT Xnon, so if the
72 has no ¥pp it is unusual that the %% will lend him (since he is not sure he will be repaid) therefore there is no
912079 nIpn if the MY has no ypp.
? The m>» will lend money because he is assured of the loan being repaid (he has a lien on the property). See
‘Thinking it over’ # 2.
? 1t should be considered a Xm*5w X27 ¥non for the 79 will usually not lend for an 2371 y>¥y which can be destroyed
(and nevertheless the X713 states that we write a 7120119 on a 221 7°3Y).
* This should also be considered a X2aw X727 Xnon for the M will usually require that the M has vpap at least equal
to the amount of the loan. See ‘Thinking it over’ # 1.
3 Therefore it is considered (like) a XawT Xnn.
% See 2,xx M5 where a M died owing a hundred 17 to a m» and he left over a small field worth fifty 171. The 172
came and took the field. The o"n> went and paid the m%» fifty 177 and took back the field. The m?» returned and
collected the field again for the remaining fifty 111 that he was still owed. »ax ruled in favor of the m%» (with certain
qualifications, w"»¥). It is evident that it is possible to collect an entire debt even with less property.
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— Typaph ARMN PRT 2IND Y9 MY RINY Y3 ¥PYDT DIUN WD INIDY 135329
And the (2"2)w" explained it is a valid 7120179, since a X372 92 ¥pap is worth the
entire amount of the loan for there is no law of IR by ypap-

MooIn asks on 2"2awAT WYD:
5:NA9D 1Y DAY W NPN DI0AT (3,7 97 mama) 1IN KNT DYDY

And this explanation is difficult, for the X713 states in n131n> noon that there is
npn 9a for vpp up to half.

SUMMARY

A person usually lends only if his loan is guaranteed by the ypap which is owned
by the mY, therefore a 712019 is written only in such as case. We write for an 7%y
2171 because of 2179 X7, If the ¥p7p is not worth the entire loan we write a 9120179
either because it is possible to collect the entire loan (°"w1) or because RN X
mypaph (2"aw"), [even though there is fX1X for more than half].

THINKING IT OVER
1. Why did not M0 answer that we write a 9120179 on X)W 92 YpIp because &
WPIPHA 1127 M7 (just as MOOIN answered regarding an 'r"ESJ)?!9

2. Can we write a 9120170 for a 8"y m5n (where the MY has sufficient ypp)?"

" The rule (by 12v7un) is that if one overcharges (or undercharges) for less than a sixth (of the correct value) the sale
is valid as is; if the discrepancy was exactly a sixth (he sold something worth six 17 for seven), the sale is valid but
the discrepancy (the 7X1X) must be returned (one 117); if however the &R was for more than a sixth (he charges five
for something which is worth four) the deal is voided and the merchandise and the monies go back to the seller and
buyer respectively. However by yp7p even if the X1 was more than a sixth the deal is valid. Therefore even though
the actual value of this ¥ypp is less than the loan, nevertheless since it can be sold for a much higher price (without
incurring the penalty of X1IX) it is considered to be worth more.
8 1If the xR by vpp was more than half (he sold land which is worth one hundred o°117 for more than two hundred
o'117) the sale is voided. The question is (how) can we write a 7120119 if the ¥p1p is worth less than half the amount of
the loan?!
? See footnote # 4 and nOY Pl
10 See (footnote # 2 and) n"na.

2

TosfosInEnglish.com



